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QUESTION 1
Given the code fragment:
String sl = new String("ORACLE"):;

String s2 "ORACLE";
String s3 = sl.intern():

System.out.print ((sl==s2) + " ");
System.out.print ((s2==s3) + " ");
System.out.println(sl==s3);

What is the result?

A. false true true

B. true false false

C. false false true

D. false true false

Correct Answer: D

J | S—

x

Console 1 Console 2

false true false
Completed with exit code: 0

QUESTION 2

Given:
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public class Foo {
private void print() {
System.out.println("Bonjour le monde!");

}
public void foo() {

print () ;
}
}

public class Bar extends Foo {
private void print() {
System.out.println("Hello world!");

}
public wvoid bar() {
print () ;
}
public static void main(String... args) {
Bar b = new Bar();
b.foo():
b.bar():
}

}

What is the output?

A. Hello world! Bonjour le monde!

B. Hello world! Hello world!

C. Bonjour le monde! Hello world!

D. Bonjour le monde! Bonjour le monde!

Correct Answer: C

%

Console 1 Console 2

Bonjour le monde!
[Hello world!

anpleted with exit code: 0
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QUESTION 3
Given: /code/a/Test.java containing:
package a;
import b.Best:
public class Test {
public static void main(Stringl[] args) |

Best b = new Best():
}

and

/code/b/Best.java

containing:

package b;

public class Best { }

Which is the valid way to generate bytecode for all classes?
A. java /code/a/Test.java

B. javac —d /code /code/a/Test

C. java /code/a/Test.java /code/b/Best.java

D. java —cp /code a.Test

E. javac —d /code /code/a/Test.java /code/b/Best.java
F. javac —d /code /code/a/Test.java

Correct Answer: E

QUESTION 4

Examine this excerpt from the declaration of the java.se module:

module java.se {

requires transitive java.sqgl;

What does the transitive modifier mean?
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A. Only a module that requires the java.se module is permitted to require the java.sql module.
B. Any module that requires the java.se module does not need to require the java.sql module.
C. Any module that attempts to require the java.se module actually requires the java.sql module instead.
D. Any module that requires the java.sql module does not need to require the java.se module.

Correct Answer: A

QUESTION 5

Given the code fragment: What is the result?

String s = "";

if (Double.parseDouble("11.00£™) > 11} ({
s += 1;

}

if (1 7 == Integer.valus0f("17")) {
s += 2;

}

if (1024 > 1023L) {
g8 += 3;

i
System.out.print(s);

A. 23
B. 12
C.123
D. 13

Correct Answer: A

23
Comploted with exit code: 0
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